MathFLIX CHALLENGE

Mathematical Modeling: Parts-to-Whole - Two Step Problems
Study the information provided below to complete the table.

Problem Model Algebra Solution
Anna is twice as old as her brother Anna irl éx Anna
Ari. If their total age is 30, . mna 42X Ari
how old is each? Al L 1 3_0_ _ T
Ix+2x =30
Ari
Anna weighs 3 times as much as her Anna + ;;( An.na
brother, Ari. If their total weight is 160 160 Ari
pounds, how much does each weigh? | | o _o________
Ix +3x =160
Anna spent 5 times as much as her Ari 1x Anna
brother Ari on a Halloween costume. Anna + 35X Ari
If they spent $30, how much did each 30 —
spend?
Anna spent 10 times as much time
studying for her college math test as Ari
spent studying for his 5™ grade math test.
Together they spent 165 minutes studying.
How much time did each study?
Jamal is three times as old as his twin Jamal | |
sisters, Haala and Maala. If their total Haala | |
age is 30, how old is each? Maala | |

Jamal weighs 3 times as much as his
twin sisters. If their total weight is 160
pounds, how much does each weigh?

Jamal spent 25 times as much as each
of his twin sisters on a birthday present
for their mother. If they spent a total
of $27, how much did each spend?

Mr. Garcia is three times as old as Maria,
his daughter. Maria is twice as old as her
brother, Jose. If their total age is 54
years, how old is each one?

The Kwan family spent $60 on gifts.
Mrs Kwan spent twice as much as Mr.
Kwan. She spent 4 times as much as
her daughter and 8 times as much as her
son. How much did each spend?




